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1.𝐴𝐵 = 𝑑(−1,5) = |−1 − 5| = |−6| = 6  car -6≤0 

 

2.𝐴𝐵 = 𝑑(15,7) = |15 − 7| = |8| = 8 car 8≥0 
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4.𝐴𝐵 = 𝑑(−√2, 1) = |−√2 − 1| = −(−√2 − 1) = √2 + 1   car −√2 − 1 ≤ 0 

 

𝑎)𝑑(8, −5) = |8 − (−5)| = |13| = 13 car 13≥0 

b)𝑑(−1,4   ,   − 5,2) = |−1,4 − (−5,2)| = |−1,4 + 5,2| = |3,8| = 3,8    car 3,8≥ 0 

c)𝑑(10, −10) = |10 − (−10)| = |20| = 20 𝑐ar 20≥0  

 



1.𝐴𝐵 = 𝑑(𝑎, 𝑏) = |𝑎 − 𝑏| = |𝑏 − 𝑎|  réponse a) et c) 

2. 𝐴𝐶 = 𝑑(𝑎, −𝑎) = |𝑎 − (−𝑎)| = |2𝑎| = |−2𝑎|  réponse a) et c) 

3. |𝑎 + 𝑏| = |𝑎 − (−𝑏)| = 𝑑(𝑎, −𝑏) = 𝐴𝐷 

|𝑎 + 𝑏| = |𝑏 + 𝑎| = |𝑏 − (−𝑎)| = 𝑑(𝑏, −𝑎) = 𝐵𝐶   réponse d) et b) 

4. |−𝑏| = |−𝑏 − 0| = 𝑑(−𝑏, 0) = 𝐷𝑂 = 𝑂𝐷  réponse d) 


